
Craven Equipment

Inspired by Adventure  Built for Everyday

Bike – BSA, D7/10/14/B175 & C15 1959-70

The correct rack for these bikes is a ‘W’ rack

The fitting kit is designed to mount the rack to the motorcycle. A
secondary kit is required to hold panniers.

Included in the fitting kits:-

Main fitting kit

Part Number Qty Description

P399

2 Support arm BSA D7/10/14, Triumph T20B

P477 2 Straight leg 5-13/16 centres

P437 2 7/8 tube clip

P203 2 Support arm clamp, flat

P493 2 Flat bracket, twist to be inserted to suit bike

41-0146 2 Distance piece - stainless steel

FA1476Q 8 Set bolt, M8 x 20, stainless steel

FA1477Q 6 Set bolt, M8 x 25, stainless steel

FA1040Q 2 Bolt, standard head, M8 x 30 (1-1/4"), stainless

FA1530Q 16 Nyloc nut, M8, stainless

S19-3Q 32 Plain washer, 5/16, stainless

FA1026Q 2 Nut, thin, M8, stainless

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure  Built for Everyday

Pannier fitting kit
Part

Number
Quantit

y
DESCRIPTION

FA1476Q 2 Set bolt, M8 x 20, stainless steel

FA1530Q 2 Nyloc nut, M8, stainless

P374 1 Support arm left hand BSA D7/10/14, Triumph T20B

P374A 1 Support arm right hand BSA D7/10/14, Triumph T20B

s19-3Q 4 Plain washer, 5/16, stainless

Fitting the rack:- Specific notes about your kit

Main kit
It is quite straightforward to fit the rack to the bike. Remove the seat and
attach the loop stays as shown in Fig 1, using the spacers and fastening
the two-holed top of the clamp brackets (P493) so they hang below. The
white arrow shows which bolt uses the thin M8 nut. Then attach the long
support arms (P399) to top shock absorber bolts, so
the base of the ‘L’ faces up and toward the rear, as shown. Now attach
the flat, straight supports (P477) to the long arms, drilling a hole to suit.
Finally attach the rack to the two uprights of the support arms each side,
and clamp the loop stays to the long support using the shorter clamp side
(P204). Tighten all the nuts up equally, making sure to keep the rack level
as you go.

Secondary fitting kit
This is only required to hold panniers. Remove the pillion footrest mounts.
Attach the P374 & P374A long support arms to each side and refit the
footrests. Using the nuts & bolts supplied, attach to the W rack along the
outside edge against the skates on the bottom.

See ‘General Fitting instructions’ for step-by-step advice for fitting a
rack and panniers to any machine.

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure  Built for Everyday

Fig 1

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure  Built for Everyday
Fig 2

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk


